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Time : 3 Hours Marks : 100
Instructions :

(1)

(i)

Each question carries o nark
D8 PHK o D), Ko,

Choose the correet or moyt appropriate answer (rom the given options (o the following
questions and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3 or 1
in the circle pertaining 1o the question number concerned in the OMR Answer Sheet,
separately supplied to you,

BIHS RS B8 BHK ABwAY B HOES HIPTHINKH IEYFD TR BrDoB
wos 1, 2,3 8¢ 4 I RS OMR 3875 HES0S* (HY) SomgH ddGm fe
BoRoRS DBER /K S Franods DY) BHATNOD JoDSDI.

2
If a sum of Rs. 1,540 is divided among A, B, C so that A shall receive 9 of what B and

. 3 N 1
C receive together and B receives m of what A and C receive together, then C’s share

(inRs.)1s

2 <)
B 50050 C ofH 500 58y Ivgod® 5 S0 A8 STtodn, Adcsn Cobo 80 3T

Swdgos* '13—1 S0 B & SHodormrdo druen 1,540 9 A, B, Co &g e, C B0E),

T (Eornees?)
(1) 930 (2) 820 (3) 740 (4) 580

A person covered one-third of his journey at 25 km/hr, one-fourth of hi.s journey at
30 km/hr and the rest at 50 kmv/hr. His average speed for the entire journey (in km/hr) 1s

1
l ——
a8 5g§ &S HoSre0s” 3 S0&0 ermrR) Kod¥d 25 8.0 THYS, 2 S 508 ) fodso

30 8.00 SBYS 25003 ) Kotk 50 8.0 WIS Frg B>k, Ingo SIS

VEd JoHd o (8.90/K0¥0)
1 2

l
(1) 285 @) 317 ®) 323 @ 3
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I£D joins them, then the average age of that 8roup
hen the average age

The average age of A, B and C is 84 years.
is 80 years. If another man E, who is 3 years older than D replaces A, t

of B, C, D, E becomes 79 years. Then the age of A (in years) 18

A, B, C & 5078 S050) 84 dosdoreo. D T8 50, & SS0mraids DO
80 Hosdyoreo. D £oB 3 dodddsned DETEM E, 7050 AS noeor 8 ©
snmahost 368 B, C, D, E o 50790 Sa0iy) 79 Sos)ssnes. @By& A &0F

505039 (donees?)
(1) 77 (2) 76 (3) 75 4) 74

8 H0%0)

The average of the first 15 multiples of 5 is

5 Bog), e 15 Hedere B0
(1) 5 (2). 25 (3) 37.5 (4) 40

The average weight of students in four classes A, B, C, D is 60 kg. The average weight of
students of the respective classes A, B, C and D are 45 kg, 50 kg, 72 kg and 80 kg. If the
average weight of the students of class A and B together is 48 kg and that of class Band C
together is 60 kg, the ratio of the number of students in class A and class D is

Jreniy S8ieen A, B, C, D o&* 5”‘5‘53” 50700 289 60 8.yr. DAIAT & SSidoen
A, B, C 50050 D o' dorghheo 5070 Sofmoen Sdm 45, 50, 72, 80 8.y, 8168 A
508050 B © @), dorghhe 2030 2603 48 8.1, 500050 $618 B odosn C o B
e DT80 28I 60 8.m. @008, A S508a50 D $8K&es dorgheo I8

(1) 23 (2) 4:3

(3) 3:2 (4) 3:5

The production in a factory got decreased by 25% due to reduction of work force. To
restore the original production, the working hours should be increased by a percent

&&'ghe Sopg Showhd Sod wf g8l a8 25 Pdo SAJB, Jose &)
&&)80 YIHFOoWFTAE DodSeVS JAfobe TE0

1
(1) 25% | (2) 333%
, |
(3) 675% @) 75%
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Anil sells his goods 250/, chea

are cheaper than Supil’ ., v D" than Sunil and 25% dearer than Akil. Then Akil’s goods

Y the Percenta
e
OdS &3 SNIJo (D8%y)s, :

WIS 0 Y
O3B E. BN B0dS 508 25% TEmdo, ©DS LoB 25% iy IS’

(1) 25 oy, ANJen (DHBen) 508 whS ShoHen, TE T&o
2) 30
1
3] 337
Q) 23 (4) 40

—— —

1+% of (6+8>{3h:—2)+[1;.1_{3 8 H_

525 |7 1l
-5
- -4
N 2 @
kd 5
®) 70 ) 75

The number of zeros occurring at the end of the product 12x18x15x40x25x16x55%105 is
12x18%15%40%x25X16%x55%105 080 GwE), D58 ;’JE:‘}::, {ég;ﬁ%éﬁ:cﬁ:g} oHe dopg
{1y 3 (2) 6 (3) 8 (4) 10

1

-1
10. The value of [1—{1-(1ﬂx3)4} ]EWhEnI=0.1,iS

11.

-1
x = 0.1 ®o030yd I:l—{l—(l—xa}‘l} ]3 RBng), Jend
1) 1 (2) 0.1 (3) 0.01 (4) 0.001

The sum of all odd numbers from 20 to 102 is

20 $200 102 385 fo ©) BO SOPFO S0 S50

(1) 1576 (2) 1676
(3) 2501 (4) 2601
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When a certain number is divided by 223, the remainder obtained is 79. When that number
is divided by 179, the quotient is 315 andremainder isR. ThenR =
w€ D03 Sowgiy 223 @ graodSBE S Fo 7919 Somgds 1798 @hoBSIyL:

PHOS0 315 Hvckn Fasw R eyd R =
(1) 106 (2) 109
(3 113 (4) 118

How many numbers between 100 and 300 arc divisible by 13?

100 8 300 & Socsg 13 & erhoded VOV JQ)?
(1) 16 () 13
3) 14 (4) 13

If the sum of five consecutive even numbers 1s 130, then the L.C.M of the largest and the
smallest of those numbers 1s

D& S85 JBdowge Ingsn 130 ©on8, B Jopgesd K02 S0csn EIY Vopge 8.0
(1) 240 (2) 280
(3) 330 (4) 660

If the difference between the simple interest and the compound interest for 2 years at 5%
per annum on a certain sum is equal to Rs. 50, then that sum of money (inRs.) is

o 50D S0SETVE 5% TBFS 2 HoddTok wihy SESEE $H00H oS4
Sogglie B0 Erien 50 vownd, v s (Eried’)

(1) 16,400 (2) 17.800

(3) 18,600 (4) 20,000

The compound interest on a certain sum of money at 5% per annum for 2 years is Rs. 246.
The simple interest on the same sum for 3 years at 6% per annum (in Rs.), is

Fod 30 S05G)oA8 5% SESG TS 2 JodsSoos edy 3§ drnen 246.
0B FS0D J0SETVE 6% THYS 3 SosGiTEwek ey THIG (Eros*)

(1) 364 (2) 384
(3) 416 (4) 436

6-D
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Ifa sumof Rs. 3,903 i Sl
¥ s ﬂIu[l . T e & * R e
equal to B's share at (e end of between A and B so that A's share at the end of 7 years is

(inRs.) 18 J years at 4% compound interest per annum, then 13°s share
50580708 4% ﬁ@;ﬁ,% SR
B @8, &8 D853S0 o
B &08), &&r (Srnees?)
(1) 2188 (2) 2,028

Roddiore D36 A g, T, Y Doddyore DHGH
gt Smens 3,903 $3 A 0005 B o gy H008, ©ByE

(3) 1,976 (4) 1,875

If a sum of money amoyns

i i to Rs. 2,240 at 4% per annum simple interest in 3 years, the
simple interest on the same op

sum {or 6 months at 3%:% per annum (in Rs.) 1

B8 80D VOSHT . 4% ercs F598 3 voddyoreos® wdhy Jwdo dries 2,240
wond, Wl #ﬁnﬁg EEDEJESJUE@Q 3140/, SHPS 6 ek @cﬁas o ple! Sﬁ@ (Ernee®)

(1) 80 (2) 65 (3) 45 (4) 35

If an amnur.at of money grows upto Rs. 4,840 in 2 years and upto Rs. 5,324 in 3 ycars on
compound interest, then the rate percent per annum is

Fod 51 SESED 2 JoSdyBsnodt dries 4,840 $65% 200050 3 SodddSnes’

grien 5,324 388 K08, HoSdoas S5Goen o
(1) 10% (2) 9% (3) 8% (4) 6%

Two equal sums were lent out at 7% and 5% simple interest respectively. If the interest
earned on the two loans add upto Rs. 960 for 4 years, then total sum lent out (in Rs.) 1s

B0 DBTrSS RO AIT 7% 5080320 5% ardaf::gsg 1Scd08. 4 DoJST LS
&s 'Eu::-r.‘.i: iy Wy 54 Soogo drien 960 ©ond, 538 20 Ingo dSwy (Erws?)
(1) 2,000 (2) 2,500 (3) 3,000 (4) 4,000

The ratio between the number of first and second class passengers travelling between two
railway stations is 1:50. The ratio of first and second class fares between the same stations

is 3:1. IfRs. 13.250 were collected on a day from the passengers between these stations,
then the amount collected from sccond class passengers (inRs.)is

Bod BBcHASe S0y BHoSTE0 S0 osE Sodckn Vodd S6K8 Hosrdie STl
“ﬁ.]ﬁ -I:S{;@a -Sg&m@ RVTaly Saodded 0bcln Dodd S8KE G"QEJ Ei;lda ﬁﬁag 3], 2.E
Fars & Bods HnSe 088 Hodredton Sod SRrBS i) Erien 13,250 eond,

3043 8658 Psrdon Hob SYD T ([Eres?)
(1) 12,500 (2) 11,800 (3) 11,500 (4) 10,600

7-D



22,

23

24.

25.

www.eenadupratibha.net

Booklet Code ‘ D

The savings of A and B are in the ratio 4:5. They bought a pift for their friend .Hh“n.nﬂ ”IIL‘
cost in the ratio 3:4, If A spent two-third of his savings for this gift and B is left with
Rs. 145 after this purchase, then the value of that pift (in Rs.) 15

A D8a50 B wo wor 3 ddoge 3G 45 56 $h Tyirdons, 34 ARHQRS" GO
DoE oL 2E V6D Fam. & LIV Bhoyds A 88 o0 dns Al
2/3 S0& e PENED, v §&) dGad B ig dre 145 n0d, B IV
Jend (drned®)

(1) 105 (2) 140 (3) 160 4) 175

I 2 .
A company of 7300 soldicrs is formed of 4 battalians so that > of the first, 3 of the second.

3 4 | |
7 of the third and I of the fourth are all composed of the same number. The di fference in

the number of soldiers between the battalians with maximum and minimum number 15

] 2 3 G
068 BerdahHnes® 2 S0, dodd oS! 3 So06, Surdd ondt "4* 4 Lody S0l

4
Teols oast g S Sod, @Ql dErSdopg st ﬁnauﬁxgn‘ 7300 'E:_ﬂﬁou: o T

BLrOoHIND o8 Eowam Srroboard. VO KOG Hobusn EAQ Dopyg o BErO
S0y DAL Jopgdt w0
(1) 700 (2) 800 (3) 900 (4) 1000

A bag consists of one rupec, S50 paise and S paise coms in the ratio 3:5:7. If their total value
sum to Rs. 23-40, then the number of 50 paise comns in that bag 1s

o€ 5006 € Crdrow, 50 Liws Hbuin 5 Liv FEw 3:5:7 ALBS &I
THeo 3odo Jend dries 23-40 wewd, v JuLGW 50 Lo Fde dopg

(1) 10 (2) 14 (3) 16 (4) 20

1320 books of same variety are divided among 7 men. 11 women and 5 boys such that cach
woman gets 3 times as many as a boy and a man as many as a woman and a boy togzether
Then one Woman’s share of books 1s

2.8 &Q, 28 el £08 3 Bl I8 ITybloman. wb JGoN8, ol é S8y w2
e 50D Sy T88 SSrdoridd @uahé.:ﬁ 28 SrLlS' 1320 9380 TG Hdodue..
11 S008 oo $00k 56 book o, vivd 8 g T YFFe dopg

(1) 80 (2) 75 (3) 60 (4) 55
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2 men ancll< 1 WVoman can complete a work in 14 days, while 4 women and 2 men can do the
SAIME WOLKE In 8 days. If a man gets Rs. 240 per day, the wage (in Rs.) per day of a woman is
RED YEOen [dosw 2,¥ E;.n 28 599 14 e I Dobhed. eod 399 4 K% Lf_»_gm
S080s0 A Hdhdven § St amerest B, YEWI &80 Grien 240 oddrod, Eaaﬁ
S 3B 2o (Sriees?)

(1) 148 (2) 160 (3) 172 (4) 180

A, Band C.get Rs. 7,200 for doing a work in 24 days. Aand C get Rs. 1,880 for doing the
same work 1n 10 days while B and C get Rs. 3,600 for doing that work in 24 days. Then the
ratio of the amounts that A, B, C receive per day 1s

28 A 24 Fwod’ Fohmrde A, B 50050 Cen Srien 7,200 Sodhads. od 339
A DBl Cew 10 SFererss® Johomng drmen 1,880 od8, B 508050 Cen 24 Sarerest
WALERE Ernen 3,600 Soars, SRS A, B, C o o &erard ﬁ“‘ﬁn@,‘” D)8

(1) 75:56:19 (2) 65:56:29 (3) 75:36:39 (4) 65:46:39

Two trains with different speed and having lengths 120 mts and 96 mts respectively run on
parallel lines of rails. If they run in the same direction, the faster train passes the slower
one in 18 seconds. If they are running in opposite directions with the same speed as earlier,
they pass each other in 12 seconds. Then the speed of the faster train (in km/hr) is

120 208283 S080520 96 bty &P Ko Doy Bew woden o JKSweS* ddroddor
&%) IHpoD IHRBDHIoN. ¥ 28 HIS' PWSrdiod, IKomr FSH 20& IHm
QR AV 18 DEoGS® mréndiod. vd a8 S8 A0SR vHSnpor g8 HFS®
BrB508 LETITES 12 DEoGS® mrinaron. ©I3E IS I BoSrBhS)
Benwod Jo (8.0/K088d)

(1) 50 (2) £o3 (3) 60 (4) 64
A person travels 120 km by steamer, 450 km by rail and 60 km by taxi in a journey. The

VAN . L
speed of the train is thrice that of the taxi and l-i times that of the steamer. If the time

taken for his entire journey is 18 hours, then the speed of the train (in km/hr) is
2 5g8 885 Bosireost 120 8.20 ©rod D&, 450 8.00 Jenwod Dok, 60 8.5 erbdods

Iy, Bevwod 3o, &r§) IS 3 04 HoBosw erod) I8 1% Béw. & ddo
RoSrerd8 18 Hodoew m;.}a, Senod Shfe) {ﬁ.baa’ﬁuéaéa}

(1) 60 (2) 50 (3) 45 (4) 42

9-D
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The distance between two cities Aand B 1s S10km. A train T, leaves A towards Bat 2:45 .[ iF ’
with a speed of 50 km/hr. It meets the train T, which leaves B3 at 1:35 pm E{nd ﬂlfl‘-’f”{i Al o
speed of 60 kmvhr towards A. The distance (in km) travelled by T, by the time 1t met T

A 200csn B o3 3ok S 0§ &rdo 510 8.0 w8 Ceswod T rotaba 50 &,
SK08 A S00d 2:45 pm & wohendd B 398 26:6°0E 4 Teowob, Koo 60 B .
3K08* B 3500 1:35 pm § 205030 A 3B 55989y $26° wob T, ) Ty& 8L -
NASrI8 T, PhasrBSods drdo (8.0.08%)

(I) 185 (2) 192 (3) 200 (4) 210

A boy walking at a speed of 5 km/hr from home, reaches his school 20 minutes latc. Next
day he increases his speed by 1 km/hr and he is late by 5 minutes. Then the distance between

his home and school (in km) is

8 BT Kobd 5 8. IKos' 2088 S0l wbE SGOGGEYEy 20 H80ABPUs whh
sodgom e d. v NGBV ok 35 Ty fobbs v Sty Tuhd,
J A3NABven sodgomr Ve k. w8 R088, w88 Logpks) drdo (6.00.08°)

1
(1) 8 2) 75

I
3 h)
(3) 7 (4) 67

The hour hand and the minute hand in a clock are at right angles for the first time after
3 O'clock at

(1) 3hrs 24%min (2) 3hrs ZG%min

(3) 3hrs 28%:111'11 (4) 3hrs 32%min

28 AAcIrdos'd Kobe Swen Hboin JAdwddwe Swewr 3 Kobew T8 s
0SB0 vonb'woss® &od Do

2
(1) 3Hobe 24%3.}.11; (2) 3fobe 26ﬁ$.m
Koboo ZBEHm o 32 2 by
(3) 350 The (4) 3fobe i )
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s ahead

Thetime bmwcc”_j' ' clock ang 4 () clock. when the minute hand 1s 4 minute space
of the hour hand, i1s =

(1) 22 min. past 3 (2) 21 %min.pastl%

8
(3) 20 T min. past 3 (4) 20% min. past 3

o o o

= " i q". - - . e - =y ™ ™ !l= Jh‘;!
ABDARNY el Mol D005 $0B 4 DBINEEoSERI ok T8 SRRIE.

KB03rCos® 3 Aoboedo, 4 foteys Sogy BB00%00

-

(1) 3fote &6 22 dues (2) 3 dodows oéd 21 11 oNess
8 2

(3) 3fobesr &8 20 1] e (4) 3 Koboen & 20 Th

If the two hands of a clock coincide (are together) for every 64 minutes, then the ume
gained by itin aday is

)

. 2 8 . T .
(1) 35 mn. (2) 34 e min. (I 32 7] . (4) 31 T

a8 fAoirdoes’ ot &J%m =& 64 AdnAdv e JoFElw Todon (8 T8
20588 EOW), .8 Gerd® o KAdSrdo wf¥or 0B 5Pw0

2 g
(1) 35 dnew @) M= () Roaw (@) 3 % Snas

The day of the weck on 10" June 2002 was

(1) Monday (2) Tuesday

(3) Saturday (4) Sunday

10 27§ 200270 o' &

() &soares0 (2) ool %
(3) arcse, (4) vdzEs

11-D
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36.  The last day of any century can be

(1) Tuesday (2) Thursday
(3) Monday (4) Saturday
DT deryo Bk, D36 G THOAG

(1) 00865 (2) Hotomesss
(3) ST ES0 (4) 205365

37. If 5" March 1999 was Friday, then on 27% March 2000, the day of the week fell on
(1) Tuesday (2) Saturday (3)  Sunday (4) Monday
1999 S8y 55 88 HbEdo wond, 2000 58y 275 F65 oSt S5y O

(1) DoA¢assdn (2) #8850 (3) =865 (4) FSoaEa0
38. Inone kg mixture of sand and cement, 20% is cement. The amount of sand that should be

added to the mixture so that the proportion of cement becomes 8 l% IS

(1) 1.2kg (2) 1.25kg
(3) l.4kg (4) 1.64kg

%8 BT 208 08050 HR0ls DFHoSt 20% HZooin &8, Dot Sod Bor
] :

2o 83% 5T RE DFSoods* Eoddens aid H835r00
(I) 1.28yr (2) 1.25 84v
(3) 148 (4) 1.64 &,v

39. The population of a town was reduced by 12% in the year 2008. If it wasdncreased by
15%in 2009, the effect of increase/decrease percent on the population at the beginning of

the year 2010 is
(1) increase by 3% (2) decrease by 3%
(3) increaseby 1.5% (4) decrease by 1.2%

2008 205)0506* o Dbwo zaer 12% $036. 2009 & & ader 15% Hoad,
2010 Dod&oo @8ogos* ord BT P POSSdhy HbEe | $fHide o Harso
(1) 3% admde (2) 3% &ife

T (3) 1.5% wéirse (4) 1.2% 86

12-D
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A person spends 75% o
- 270 01 hig G is income i ases by 20% and his
expenditure also iney nonthly income. If his inc ncreases by 20% a .

Cases by 894 the percentage increase in his savings iIs
o8 208 S5 ey S .
88 aR0s* 759, DEY Danc. ©S sToLo 20% oA, ¥EI VY S

R0, ONSB, wessy 33 .
S PEOYS* D& TS0

57
(1) @2 (2) 56 (3) 60 (1) 64

n £ . 1 ] . =
A person sells his table at 12 5 % profit and his chair at 83-% loss and gains Rs. 25 on the

e e 1 .
whole. But if'he sells the table at 8 3:*% loss and the chair at 12—2*% profit. then he neither

gains nor loses. Then the cost price of the table (inRs.) s

I 1 B
o8 .‘.‘35& &85 BeneS !25% 28, g;,ﬁ‘j;} 8—3—% E{i%ﬁé @y, 30d0 e 25 doruexn

: 1
erefo SPOTTR. o8, Wad) B8 3%% S8 0B 500y 12"2“% TS @Q}éﬁ,

038§ ereforrd, IR0 A8 . i 8 Bwd §Y) ¢0 (Ernee®)
(1) 360 (2) 340 (3) 320 (4) 300

The market price of a shirt is Rs. 480. If the shop keeper allows a 10% discount. then he
gains 8%. I no discount is allowed, then his gain percent is

o8 57, G308, D8 &8 S 480. Sosrorddy TR 10% &dm 08 2, WS
8% erafo rocherds. 8708 d a5Ed8, vdd UrFFTdo

(1) 18 2) 20 (3) 22 4) 24

Amala purchased goods worth Rs. 450. She sold one-third of them at a loss of 10%. To gain
20% on the whole transaction, she should sell the remainder at a gain percent of

1
5o Erien 450 De0IS SJod FHd. sds*® g S0 s 10% STVS @AIB.

S0go SgITEI0 R 20% ergio FoATIE, MADS SHYes e viSos oy Tdo

(1) 30% (2) 35% (3} 40% (4} 45%

13-D
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0, above 1ts cost price. Had he bought it al 5%, more than

A trader sells a transistor al 15 ; :
6 more, he would have gamed 10%. 1 he cost price of

what he pard foritand sold it for Rs.

that transistor (m Rs.) s
e AL

LE SR o ARG, BF) 02 15% Q89 35 whnyords. wdd TR DY
T £08 5% 5 H% &I §, 0 Erted I8P DT TV wind, wdIs 0% ergo 9T
SuID. 85 Ls;::g@m B*.:f:} RYS) {d.:‘ut:t’i"}

(1) 1.200 (2) 1,000 (3) 900 (4) 800

A trader allows a discount of 10% on a calculator. Inorder to gain 20% on selling itat this
discount, the percentage of increase on i COstprice that has to be marked, 15

&8 T30 o 50%gBLEKR 10% AR, 0005 BRLOTE. & 8A7, 0608 T7ID @00 &7
20% ergddnd odT8, §8) &6 208 QB0 NELBLSSONS §8 Bng), TE0

(1Y 10% (2) 30% (3) 331 % (4) 34%

A and B can do a picce of work in 12 days, Band Ccandoitin 10 days, C and Ain 15 days.
The time taken in days for A alone to complete that work 1s

A 538050 B2 339 12 e, BSoddn Ce 530 10 Swrod'S, C 50800 Aw
199 15 Sareets dabiod. Aaé&,ﬁ @ DA FO DHT A8 1T sTodw (5°222e5¢5°)

(1) 40 (2) 36 (3) 34 (4) 28

B takes three times as long as A and C together and C takes twice as long as A and B together
to do a certain job. The three men working together can complete that work in 8 days. Then

A alone can finish that work in

1 |
(1) 2{}5 days (2) I9'5— days

2 500 0 BoHTAE A%:8050 C en E0% ST SHa5rdS Hr&I0Ly B 80800érdd,
A 500050 B oo 502 BE3 5500508 B0 ddaho C 8Fotrd. SnRdr §O0
598 H © 530 8 Fwos' Fi XD, A & I JT SoHharas HF d8ocko

2 3
{3) 135 days (4) 18"5— days

1 1
— G'aren (2) 19; S'aren) (3) 13% Foren (4) IEE S'aren

(1) 203

14-D
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4%, A pgroup ol men ey, ol o
: nplete; ' & more men join that eroup, that work
~ecould be finishe twork in 60 days. It J gtou]

) vk | .
IS days carler, The number of men originally in that group 1s

) VEINSTS) 'J-';—"J-J.Jl':.n"‘u',‘;_',g_,. € 393 60 5‘3},,5._]55" ?",g}"_l‘_‘.‘ oo, G 8§ Joob
,‘,3}6};1}!'.}.1 g :J:.DJE"Q;_]-:JJ £é)

Rrodoiuly
5. as 2D 15 Seren Swodom Jrf wdood. SIS
B NSV g

(1) 20

*--1-‘" X W w
UJT_:. m""’} l'p-':]djmf.ﬂ :&DEJB

(2) 20 (3) 24 (4) 25

49. Working separately A und 3 can finish a work in 8 and 12 days respectively. If Astarts the

work and they work on alternate days, one on each day, then the work will be completed by
(hem in '

l 1
- 1 2 ,
(1) Hd days (2) {}.2 days (3) 10days (4) ID4 days

DADAN DAy A 53065 B o 2.8 520 S6odm 8 558050 12 Swred” g dobriod.

A © DI Tderil, Gk wbdy THyS T G DB Gl ST, © IV TH FY
Ao sTwdw |

I ] ] :
(1) 8 Gewew (2) 95 Gweo  (3) 10w 4) 105 Gewen

, 50% A candoa work in 8 days and B can do it 6 days. They have undertak;n to do that work
together for Rs. 1,800. But if they complete that work in 3 days by taking the help of C,
then C’s sharc of amount (in Rs.) is

Ak H92 8 Serod® Gohirod. Bed 3 6 Swed® dohrod. T8E8H SO0 & I
Srieo 1,800 o Ba0ads wi3Fandh. C BwE), 35ces” o & I 3 et
g 3%, odyd Caér iy (Emed)

(1) 325 (2) 275 (3) 250 (4) 225

51. Ifacylinder, aconcanda sphere have the same radius and equal height, then the ratio of
their respective curved surface areas is

B b:gé;&n, & F0%0% Ho0osw wE RAédnen =8 FS&QMF&J, SSrEBS D8 gﬂn_
808, 8. Sigso Progine I SEIm

™
1) 3.5 @ 454 (3) 2:43:2 (@) 5:43:4
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In EI'L':IEEIE{}I".IS 32 to 57 there is a definite relation between the first two entries. The same kind of
rch’ftmn exists between the third and fourth entries. Choose the correct one among the given four
options and answer the questions

©Hew 52 $o00 57 6%, Znse Bods oFSned &8 QDA Howogo Gob. A8 JGwsd

QOWOE0, Bard $00030 TenKy BodSae DG Bra ;55;3%5;._ s S T Y FO
00D DB DS Q) JoDE B, RHLE 2T T ofod.

52. Barrel : Vial :: ;

(1) Shovel: hoe (2) Key:door

(3) Volume : Monograph (4) Honey : Milk

DOS : Bo0S

(1) 235 : 5 (2) &:6&%

(3) a*u?gﬁs D o S|Te (4) > : 28,
53. Fewer: :: Countable : Uncountable

(1) imaginary (2) total (3) less (4) sum

rgod i ;1 Toband | s obend

(1) adess (2) &S 3) 8% (4) 55
54. FORAGE: SEARCH :: : CONFUSE

(1) HAUNT (2) HIDE (3) FLUMMOX (4) CLARIFY

OE : W) U : EQrgE

(1) %o 2) & (3) 3508 4) 8%
55. 97:89:43: N

(1) 31 (2) 37 (3) 40 4) 41

56. 117 : V13 72:

(1) 8 2) 12 (3) 24 4) 81
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8 0+ — + Celsius : Kelyin
1 Zi-’ﬂaﬁ)ﬂﬁgﬁ ;3555 |
() 32 (2) 180 (3) 212 (4) 273

fute

, + | 4 . D consti
In questions 380 61 each question consists of two sets of figures. Figures A, B,C hip

the problem set, while(1), (2), (3) and (4) constitute the answer set. Thereis 3 definite r.:-;*l::n:iil'l?E a
between figures Aand B. Establish a similar relationship between figures C and D bysqCRiles
suitable figure from Answer set that would replace the question mark (?) in figure D.

58 %000 61 36% Ko He OHS* Tods BLdwe HSTALBNOTYON: A, B, C, D d&3S0ew
S0y P8R, 1, 2, 3, 4 Sodnen 350mrS 52089 Arddoxn, A 438050 B © Ho§g =8 84
dowogo wod. wirod 202057d) C & EOAS Herd) HSre S £208 So0d, D &' FTIS
JoDE Wokod.

58.

Al A V] AVANVANRV

A B C D (1) (2) (3) (4)
59. _

AN AR

| 1

A B 0 D Hn @ 3)
60.

AR | &

\ B C D n @ 3 @

17-D
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|

|

_

(1)

(2)

‘(3)

(4)

In questions 62 to 64, in each question, four entries have been given, out of which threc are alike
W1 same manner and the fourth one is different. Choosc that different entry as your answcr.

62 So00d 64 S58% Ko PHos!, B8 PHS'H Teokh voTw asjpdrow. ¢8e5* Sarehd

VOT N &8 SETS* a8 Fdrargl) §ON Godrow, Jreofit wodo DPS)omr Godwol. W0l

DX wod) b JdrerSor JobE Bokod

62.

63.

64.

(1)
(1)

(1)

(1)
(1)

Deer
A&

13

Dolphin
E‘E‘JS

(2)
(2)

(2)

(2)
(2)

Zebra
22

23

Zebra
I

(3)
3)

(3)

(3)
(3)

Hyena

37

Lioness

eoldw

(4)
(4)

(4)

(4)
(4)

Giraffe

209

71

Crocodile

E5aS

In question 65 to 66, you are given a set of four figures (1), (2),(3), (4) out :_:uf which all except
one are alike in same manner. You have to select the dissimilar figure in the given set and choose

its number as your correct answer in the options (1) to (4) given
65 00D 66 S6% Ho PHOS 2% ek HLdnen (1), (2), (3), (4) asgpdaron. T8S
2, €88 DSES DAOID ©l) IE w8 Formr wF FErargd) SOA GoLraw. B8 JS8S* HHorr
=) JErQ) JoE FR0E, SIS (1) 2008 (4) &° o Jopgo STsTes iy &;’n-.:rs’.mrrx JODE

3306 08.

65.

©

(D

D

(2)

18-D
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(4)
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(1) (2) (3) (4)

A and B entered into partnership investing Rs. 16,000 and Rs. 12,000 respectively. After
3 months A withdrew Rs. 5,000 while B added Rs. 5,000 to his capital. After 3 more
months C joined them with a capital of Rs. 21,000. At the end of the year if they gained

Rs. 26,400, then B's share of profit exceeds A's share by

(1) Rs. 2,400 (2) Rs. 2,800

(3) Rs. 3,200 (4) Rs. 3,400

A S0bcsn B en 383 Srien 16,000 So8csw Srie 12,000 ﬁﬂﬁ%ﬁ]-&g o8 &méﬂ
TgroR) oo, 3 Jve EH>d drien 5,000 ol A II85% &8 08, B 835
DEp0d8 e 5,000 £82ard. & 3 Fwe gHd drien 21,000 2nads’ C 5788
EODT 0. HoSH 0S50S 08 dren 26,400 ergo SR, A T oo 808 B I

orgfo sQEgd
(1) &oruexx 2,400 (2y &ruen 2,800
(3) &rien 3,200 (4) &omiex 3,400

A and B invested Rs. 30,000 and Rs. 40,000 respectively in a business. A receives Rs. 100 per

month out the Profit towards running the business and the rest of the profit is divided in proportion
to their investments. If in a year time A receives a total of Rs. 3,900, then B receives Rs.

A 58030 B 2.8 Egﬁﬁoﬁ‘ S5 doon 30,000 So8adn & 40,000 "é.}é..:%z:& ELEY

ST TR) QEEroNS0 S SIS o’ A 8 I8 & 100 TS 2D, DAdS orerd)
>0 Do QS SoDHHTH. ¥ JodFfosreos” A § Bndo & 3,900 S,

B 8 S0 S0y & oe*
(1) 3,600 (2) 3,800
(3) 4,000 (4) 4,400

19-D
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69. A BandC entered into a partnership in a business. A got % of the profit, while B and C

distributed the remaining profit equally. If C got Rs. 4,000 less than A, then their total
profit (in Rs.) was

2

5
DAY ererd) B 5080n C en S5rS0m S0HETE:. A €08 C & & 4,000 859,3 5%,
OIVE 8 Indo oo (ries?)

(1) 34,000 (2) 36,000
(3) 38,000 (4) 40,000

A, B 508050 C en 28 TgFE0S” TRV BOTK. ergfoes® = S0 A Fob8,

70. A, B and C became partners in a business with respective investments in the ratio 5:7:6.
Next year they increased their investments by 26%, 20% and 15% respectively. If their
profit at the end of second year is Rs. 21,600, the difference between the highest and
lowest share of profit (in Rs.) 1s

A, B 58050 C en $63m 5:7:6 ABS'A Dénedod® ol orgdsos® g Snocsrg .
& 306028 Josd)do 70 DéPaEION T SEHDM 26%, 20% 0dadw 15% odard.
Bodd doddydo DS a0 ergo &, 21,600 eond, ©dghE Hodn w&gey orgre
JTére S06g Bdo (Criod’)

(1) 2,100 (2) 2,250

(3) 2,360 (4) 2,440

71. Three sides of a cuboid are 18, 37.5 and 40 cm. If there is a cube whose volume is tht? same as
this cuboid, then the length of the diagonal of that cube (in cm), correct to the nearest integer 1s

2,& ‘5'5,50 d0 Bwg), Surdy Fhasven 18, 37.5 S00as0 40 Do.o. & Y S0
505008 VSIS WS HOSrerd) EOAS &8 W0 &08, & o B, IEGSW
5 (o1 D. 06f) HhoS Froossnss BSsoST

(1) 48 (2) 50

(3) 52 (4) 54

20-D
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The number o eyl
I

IRt E N i d]] v
prepared from 4 Teclgy cal Candles eae; of diameter 4.2 cmand height 2.8 cm that can be
21 em. is dNgular Cuboid shaped wax solid with dimensions 66 cm, 42 cm and
66 o1 ., 47~
"y 1'-"':“:3“ h) Ei) - - o
+ o ~ i Ly mmeedE) o) Sedd)
O "wgharébeg 4.7 oS 2] 2Ol o, Eeden §0AS &8 5?# W N e &

=
o) . e o TRt l
Qn ,:}}_ mgﬁiﬁ : 7 8 2500 E - iy '_JE " Daflé:'m}m Ch 0o l:_..l...-t..-.JCu.-'ﬁers

BITTEY £ Sagge o

(1) 1400
(3) 1480 (2) 1440
(4) 1500

The external dimensiong of
thickness of the wood 1S5
box (in gms) is

a closed wooden box are 18 cm, 10 cm and 06 cm :m? 1|h:1
mm. Ifone ¢.c of wood weights 0.8 gms, then the weight ol tha

2,8 Do ﬁﬁql aéﬂr-ﬁﬂ% EJ'“i}'ﬂg Sodes 18 2on D.. 10 on B3, 508050 6 ool . HoBodw
& DY), D085 5 20.50. 28 53 or Ho. 3% w69 0.8 (rEve wond, 6 G DD
(rdnees?)

(1) 394 (2) 324 (3) 252 (4) 242

A solid toy is in the form of a right circular cylinder with hemispherical shape at the bottom
and cone at the top. Their common diameter is 4.2 cm and the height of the cylindrical m?d
conical protions are 12 cm and 7 cm respectively. The approximate volume of that solid
toy (in cm?) 18

2.8 KE3(D08) esdy 5700y, @M o R E)B, P @riio F0%0H 5B HOAS w8 vow
5805 JdgHo 52606 $08. DB vAYB &350)8 Tgdo 4.2 Do.. JpFSEY 0B
0803 Esl'"ﬁ?".g} rfS0e dEeo SEHIM 12 Do.0. 0005w 7 0.0, & HE s 780
Do), DS HOSTE0 (898 0.20.08°) BLoN0YT

(1) 218 (2) 248 (3) 276 (4) 292

The radius of a conical tent is 7 meters and its height is 10 meters. In making the tent, if
e radius O _ : : I

. eter is used, the length of that canvas needed (in meters) 1s nearly
canvas cloth of width2m

505‘ & &) D3 go ﬂﬂgﬂr o 553 QU ! 313&363,, o 268 10 Dodadh. & Hmdo

2, & 080 ©5"° ) e =

SordoBodas, 2 Dotrdy IEE) Ho 50 Mg T8, s50dS sagd NG FED
?

(Dotoges®) BT

i 138 (2) 1342 3) 1328 (4) 130.6
1) 138.

21-D




il

78.

i

www.eenadupratibha.net

IAR-5—| Booklet Code E

ITTEACHER and HIGHLY are written as XWPBRWM and RSNRDZ respectively, how
will be the word CHARITY coded?

TEACHER 350050 HIGHLY daroi $&dm XWPBRWM 000k RSNRDZ T8,
CH&RITYE’E‘QJ 2 Do (T0oda8?

(1) BRPMSXZ (2) BPRNBSZ

(3) MBRPDSZ (4) BRPXSMZ

IFFURNITURE is coded as ERUTINRUF, how can FRAGRANCE be coded?
FURNITURE &% §'& 2ries* ERUT[NRUFH‘ TR, F%AGMNCE&J §&?

(1) FCNARGRFA (2) FARGRACEN

(3) ECNARGARF (4) ARFGNCRE

If the word DIAMOND is coded as AFXJLKA, then JLKHBYV is the code for
DIAMOND & &6 AFXJLKA o038, JURHBV ©3ad) 56 fob

(1) MONKER (2) KEYMON

(3) MONITER (4) MONKEY

Consider the following codes and decodes. The codes are written in CAPITAL
(Upper Case) letters

Decode/key : b a e S p r h i g t

Code : L X B Z ] Y Q M N B

Decode QPMNQB

& 80 §'6, 8860 58890508, §&en g (s0LS) wfored’ D"oioa:-:?s.:‘ﬁé'}
A8°6/8: b a e S P r h i g t

§& : L X P Z ] Y Q M N B
QPMNQB &»¥), 48'6

(1) cought (2) matery

(3) fights (4) height
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A man starts from 3
turns North and w
starting point

(I) 11km
(2) Skm
(3) 10km
(4) 8km

goes 2 km. He then

point and m rurns to Westand
oves 3 km North, then far is he from the

alks 1 km and then moves 5 km towords East. How

w¥ S0 @608 Yo Kool adoss 3 4, ©8,E H0b HAKC JYH 2 S
SETR. 08 %08 &0 39% 1 8.0, w88 $008 &r8) DI 5 8.0, 587,
OS2 (@rEoss L0 008 Jod Erboest Golrdo?

(1) 1185,
(2) 585,
(3) 10 &5.
(4) 88

Point B is 3 meters to the North of point A, Point C is 3 meters to the West of point B,
Point D is 5 meters to the South of point ‘C’, Point E is 7 meters to the East of Point D. In
which of the directions is the point E, with reference to point B?

(1) East

(2) South

(3) South-East

(4) West

B 03 Do ADods 3 bl drdod' edd B¥S* »od, C Dok B % 3 oesss
Srdos® HES08 BFS*, DDk C5 5 b drdos* 880d¥eS*, E Hocod Do 7 ﬁ.'bé.::;
Erdoes® Srddy H¥S* eanon. B Do &yrs, E Dodo) 2 84e* &od? )

LY\ &7
(2) &8eod

(4) S8

23-D
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‘ question is followed by two statements [ and II. Mark your answer as
Ifthe statement | alone can give the answer

if the statement Il alone can give the answer

For questions 82 to 85, each
(1),

(2),

(3), if the Statement I and II together are necessary to give the answer

(4), l_f the statement [ and || together also are not sufficient to answer the question and additional
Information is necessary

82 So00 85 5% Ke 08 PHS'Sr w8 @F), T S0 Boko PSSTen I, I en e,
BI85 16° Sorgdo % 20355088 (1) ;.

PITS0 JI & Srgd D% 257d350008 (2) ©d;~

RI3ESe I, [ ok Lonha S| ©H 2TDINOAE (3) wd;

@580 [, ok Sodr &), 20508 083 Sirardo Bkhom HH% 2rdSBEXE (4) ©d
D JDIrT ) HGoSos.

82. Manoj, Prabhakar, Akash and Kamal are four friends. Who among them is the heaviest?
(I)  Prabhakar is heavier than Manoj and Kamal but lighter than Akash
(I) Mano;j is lighter than Prabhakar and Akash but heavier than Kamal

S0SE, P86, BvR HBW RS ¥ T Serhh V)IrEed. BS ISH WSHE wEHBS
o*80?

(D) g, 2S'E 08050 EHS KoB kIS ¢, wond uws'h o8 8985 o

(I) HE, Herés Hdcs0 65°Q o8 8985 %), ©ond EHS KoB adhIS Tk

83. Zis in which direction with respect to X?

() Y is to the South of X, Z is to the East of P and P is to the North of Y
(I) Pis to the South of X

X Syxs, Z o) B¥S* 4od?

() X cﬁ:uélr 800 YIS Y &od, P -:ﬁ:m‘ﬁ'er e?'m:‘.iaaé Z 4080 H0asn Y cﬁ::éz, G &850
- P aob.

) X By, SEednd P &ob

24-D
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(1) Thereare (e Student ;:tup, Ina clags of 40 students?
S between Ny N

(11) Navcemalwunuclh from the tin and Navee

40 508 o op g
5%‘-‘-’0 eeg S6RBG* % ool Lo G398, Grubs U3

85. How many gift boxes were sol

() Ttwas lﬂf% n?nrc than the boxes sold on the carlicr day 1.¢, Sunday - Sundity
(IT) Every third visitor to the shop bought the box and there were | 500 yisitors on. .
S Enlefobvatat qul VTR Bex @953

d on Monday?

L8500 ? e
() ©od Bocs O'2r, WS wBbo wins LB Bul 10% @ikl o)l 0 Al
v ol [ +, &

(D) s ST B8 Hards Dol WBGE T, s Boss whbarto U 150
208 ﬁﬂﬂﬁdrg,{ﬁ)ﬂ; ﬁ'ﬂ:)_r:ia ¥ A

Direction for Q.No. 86 to 90 : For the Assertion (A) and Reason (R) below, choose the correct
alternative from the following as

(1), 1fboth (A) and (R) are true and (R) is the correct explanation of (A)

(2), if both (A) and (R) are true and (R) is not the correct explanation of (A)

(3), if (A) 1s true but (R) is false

(4), if (A) 1s false but (R) is true

86 5008 90 565 Ko PHOK 1 P8 WAHS' cigedS dYEsgo (A), s*Gead2 (R) obo 5ok
2Dy’ JGIs e

(A), (R) e Bodr dudn $H0asn (A)E (R) 50508 JHde wond (1),

(A), (R) &0 Bodr Dm0 508050 (A) 8 (R) 20Gd Hdde &7 wund (2),

(A) dzdn, 572 (R) 823 wond (3),

(A) 853, 59 (R) a0 wond (4), ¥ I8)EF 0D

86. Asserttion (A) :Subhas Chandra Bose resigned from the officc of the President of Indian
National Congress in 1939

Reason (R) . Qubhas Chandra Bose left congress to form the Indian Independance
League in South East Asia

APsdco (A) - 1939 &° dgratol &0 Frdd 8ok o@D BwE), vEgE HEDE
cdTdr B

sdeosn (R) :derasd 50 968 Sgdold OF%o efyusH ehosrst PdodoSaDE,
sTo[Ps) 56O IPT
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87.

88.

89.

90.

Asserttion (A)
Reason (R)

V00 (A)
S00dn (R)

Asserttion (A)
Reason (R)

VF)ddco (A)
S8l (R)

Asserttion (A)
Reason (R)

ﬁ%{héeﬁsa (A)
s*8eadw (R)

Asserttion (A)
Reason (R)

QByédedco (A)
5*8eaa (R)
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 India has a tropicol monsoon type climate
- India is located exactly between the tropical latitudes

ol B30, &3 DBF S DB80 SrB8 T SEmoss KR ¢ 0tnod
Lol B0, ol I RES ©5 0850 S0¢g SO SgSHSB0 ©oNIH

- Mercury is the farthest planet from the sun

: Mercury is the smallest planet in the entire solar system
L 0B8R Hood wdghE dordoes®t &J) o g
F 0G0 RordgEotonownne’ etk 08 AX) Ko

: India is facing the problem of inflation

- Inflation is caused by the raise of prices of commodities
L rEdBdo (BS' g SV A6y 0t5*0d
IO o DHNEL, (BSgyRpsnss sEndn vHEod

: Metals are present in molten state inside the earth
: Earth absorbs the sun's rays

D Strden, Prdy StHe |858rH0eSt Sodron
L 0, Jr8y S8errody &5 508 E:mgg'gma-

Study the following information carefully and answer the questreris 91 to 95

Seven Airlines namely Jet Airways, British Airways, Delta, Quantas,; Emirates, Lufthansa and Air
India operate flights to London. Begining from Monday and ending on Sunday, on each day of the
week, there is only one flight to London.

Delta flies on Wednesday. Air India flies the day next to British Airways. Two airlines fly behf.feen
the days British airways and Emirates fly. British airways does not fly on Monday and Friday.
Emirates does not fly on Sunday. Quantas flies a day before Lufthansa flies.

& BHS ad)d IdrwoR) FEET g0 B2 91 Sood 95 6% Ko PHok zaww

Qc0d.
2465 JonE3D, PBS 008 IF, Bex, FLobS, VL), W) $H0AN Jond woddlr ¥
Yo DI Hogen ©odSE ITrTen Shoyeran. FHo e GBI 88, TGS
©8 5% ©0olI 28 28 IIrS Jb Gotnod.
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B i Fca T
A8 )23 Q08 I 8%, gave had S Jowb R0ESr HKYE0H

D8R o0EIG E%st‘:‘ﬁ‘d ‘%_"%fﬂ

Sares Sospest Dot D58 H0Gee DEPT R0 Sdoherow.

O, D . =
Gardso, wf G s ardo ey $656. JDBE) BBTE0 SGDE. LTI S&e
233
? PR ShHEos
1. et Airways fly on thig day
(1) Friday
(2) Sunda da
_ y 3)  Tuesday (4) Thursday
26 JonbA S6cks —— (3)
il i (2) wazs
Q

(3) Soofgado (4) maso

(1) O

) One (2) Two (3) Three (%) Fou
Q0T So8akn Ao Sogsg VYD) DIrS Sboe dowg

(1) 2.&e8 (2) Bods (3) Sord &) e

93. Theairlines that operate its flight on Friday, is

(1) AirIndia (2) Quantas (3) Lufthansa (4) Delta

DETCoT % Hbe0d SBYHF) ISrS Doy

(1) Qownd modasy (2) sgobd

(3) eoaram (4) Ber

94. Due to some technical reasons, if Delta postpones its flight to Sunday and all the flights

scheduled from Thursday to Sunday are now advanced one day ahead of their schedule, the
one that would now fly on Friday 1s

(1) Lufthansa (2) Quantas (3) JetAirways  (4) BristishAirways
£Q) osdE 6T o Sob Bep 885 oo shTEI0I%0 Tons I, 08k
KodogrE0 So0d T YS® 368 o o) 9 Dbcdoen g &' DR0EK 20DhE, QY
HETSo DY) DS HEG

(1) e (2) sgoLR (3) BE Jonb3D (4) ©BS donsAS
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f JEIAlrways is related to British Airways and Air India is related to Lufthansa in a certain

9s.

vay based upon the given flight schedule, then based upon the same relationship, Emirates
IS related tq

() Jet Airways (2) Lufthansa

(3) Delta (4) Quantas

S8 DS 96 wgrdorr, o8 AR IHAPOS* DR JonEIHS DS IS H0K
VRIS Jows Q08050 20205 $9N &08, ©d HowoFod* IWVL)S' HowoGo

5O/ &odn?
(1) B donb3s (2) oo
(3) Ber (4) sco0S

Directions for questions 96 to 100

Following are the eligibility criteria for becoming member of an exclusive club:

(1)  The applicant's annual income should be atleast Rs. 5 lakhs. He should be able to pay one-
time membership fees of Rs. One lakh

(i1) The conditions given in (i) are both relaxed upto 50% for former defence personnel

(iii) For the children of existing members, the criterion of annual income is reduced to
Rs. 3 lakhs and one time membership fees to Rs. 70,000.

(iv) Judges working in courts presently are offered free membership and the stipulation of
annual income is waived.

(v) Irrespectie of annual income, a national level sport personnal is eligible to be a member by
paying Rs. 20,000 as membership fees.

In each question, information about an individual is given. Based on that, you have to decide
under which criterion/criteria, the individual is eligible for membership. An individual can be
eligible under more than one criteria. You are not supposed to assume any thing, other then the
informaion provided in each question.

Study the above information carefully and answer questions 96 to 100
96 S009 100 365 Ko BHod Sordden

B§ GH)S SEBNSH ToBS EES' HeigEEnSS, & BOIS Jnosser asgRAT

(i) &85O FOT 8T 000 EAJ0 Gr.e0 5 ofen Gord. vdd 280 Deigds Sdodwomr
of SrJronen Bdoulomd
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(i) FEE SEEG nogy, o

5 0O H“y» = : - T
SLe]ITOPNEATAY: TR A IS P (1) &* 205 Aohdrws Tuds 50% 385

(111) @80 E’az.“bgmrp %
2 0
300855 26,00 g A0 QOOK), b SO0 WR0S G 3 vBuk BbodndidSouh
Ojl.ﬂ s ﬂ ;3 -
) © VTS %osn dr, 70,000 v Sbodnbidics
(IV) @380 B'Gost 3034 ,
FOT ¢ y 3 a%::aéo W Bhosy Do Jggdco A3UrYS 0y bl
TOT BT dwody 08,8 Bdard; -
= !'\_..‘ o " -
(W) FOT soohos® VOR0G0 Bhomr, wrdady Fas Sorsdod, Sgdr cltium &
9 o o ™
3,

o o gt ED
BB 5 358, DUFETENIL 6 6HE 6 bots AganeTd. & 536 2K Lo 85,5 Dol
FOS V08> SN B8 BHS'K, aNF SSrTEINSE DoD Dods I THED
G ASTROE -V faS)

O PHSD, w8 5588 BonoBons P Tete adt2808. O srdom, J AR/ duugi

@ 23rwdo IS egsado BN 96 ood 100 S65 PHok zowen (ol

96. Rakesh Varma is a working pilot in Jet Airways with an annual income of Rs. 10 lakhs. He is

ready to pay Rs. 50,000 for a one time membership fees. His father is a retired Navy
officer. Then Rakesh 1s

(1) noteligible

(2) eligible under (i1) & (i11) only

(3) eligible under (iii) only

(4) eligible under (iv) only

Er.en 10 oo H058)0 soro00d’ T8a 38) BE IS JoyS* Dol I3 ST,
2830 ELIOVS ::ﬁsésd}mﬁn &r. &0 50,000 0708 wdd SoRdEESrgd. ©EI
Sod DEod 3O WOSE. wdydd 0B

(1) o8& d 56
3 (i) So00%00 (iii) §08 Sm@d o8y d

3) (iii) o8 - @8, &
(4) (iv) go& SE oy, &

29-D



97.

98.

www.eenadupratibha.net

AR"5J Booklet Code @

ational Basket

Kiran Gupta can pay Rs. 70,000 as membership fee. He has been playing in N { club.

ball team and he is working in a public sector bank. His father is a member of tha
Then Kiran Gupta is

(1) noteligible

(2) eligible under (v) only

(3) eligible under (iii) and (v) only

(4) eligible under (iv) only

8665 o defgds Govsnm Greo 70,000 Sgodhud. 08k 2B
ESSre5* o STE S8 BEES Soll ergofes® HR Bnaryky. @348 o
DEhgy. wdyds 888 N

(1) odd s

(2) (v)od Srgid o &

(3)  (iii) 308030 (V) 8o Sr@add @8y &

(4) (iv) 806 SrmEd @ &

s.}'-":‘;tzrég b
& © geﬁ'cﬁ‘

Gauri Shankar's annual income is Rs. 6 lakhs. He is a retired judge of High Flnun. He can
pay Rs. 1 lakh as membership fees. He1sa National Cricket Player from his home state.

Then Gauri Shankar is

(1) noteligible

(2) eligible under (i) & (v) only

(3) eligible under (1) & (111) only

(4) eligible under (i) only

76 4086 H058)5 BEroHo Er.e 6 vfes. 8l 28 TER JFod 2§, 086 2§ of

dor.e0 DIgEe SHrodom éé&dﬂm, iy 83 u'@u B85S B Lo 15385 eséormebo.

oYdy 76 Fo86

(1) e8d 5

) (i) o803 (V) §od S o8 8
(3) (i) Sovas (iii) B0 Srgd od) &
(4) (i) §od 5@ ©&Q.&
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99. Preeti Singhal ig

100.
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Rs. 4 lakhs. She Daz daughte

Pay Rg " Olan eXisting member of the club. Her annual 1!1c::11112ﬁ 1?
- L . 2 1 Iﬂ[
A oo Dt Preerj Singhalsﬂ’[}% as one time membership fees. She works n 11

1S

)& (1) only
i ) & (iv) o
(3) eligible under (iii] & i nly

(4) eligible under (i) only ) only

(1) ehgible unde, (
(2) Elllglblﬂ Uﬂder (l

& By
P8 VoRFS, g ¥

P €85 Qg o PR Begd @, 5D, e FdF wmodo G
4 0800, 230 §B Besese ” 58

e B ¥ oS 808 6@ dren 80,000 BosHes. 6 &7
PO St aded B:@n:}h‘lﬂ @@de @Ja ﬁ]D::iJ'EE
(1) (1) SoBasn (i) 8o Smgd, 8 e
(2) (i) So00% (iv) goss SrEDH 0 oen
(3)  (ii1) B08c%w (iv) Boss SD w orex
&

(4) (1) §od S O e

Shobha Sharma works in a Public Sector Bank. She is a player in National Badminton team.

Her father is a retired judge of a district court. Her annual income is Rs. 6 lakhs. She can
pay Rs. 1 lakh towards one time membership fee. Then Shobha Sharma is
(1) eligible under (i) only

(2) eligible under (i) & (i) only
(3) eligible under (1) & (v) only

(4) eligible under (i) & (iv) only

§°¢ #0) 2.8 @abdg doil argofet B Bod. e 8o BN 2NS* WAIB.
e So|d 2.8 ey FY IFod 2§ 6 PO wmrodo Er.en 6 ofen, e oIF6
D05 DS Hodw dr.en w8 of Bodnodd. vyl &% 45)

(1) (i) 1Bod Sorgid 88 T en

(2) (i) $0805» (ii) 8ot Srgd ed) ore
(3) (i) S06050 (V) 808 SrED 08 orew
(4) (i) S06050 (i) Bod SrEd 8 Ten
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